MOBILE
TOOL STORAGE

Stow, organise, secure and transport: construction site, GEDORE offers a series of cases and

GEDORE has a solution for all these the NIIX?(&CLICK modular system. A solution based on
the Sortimo® transport box system. The BOXX®en, tool

requirements in its extensive tool modules and the extensive range of accessories offer
storage range. every conceivable scope for individualisation and can be
combined to form a well-organised "workshop-to-go"
Tight construction spaces, unpaved access roads, Another plus: MIXX&CLICK® is fully compatible with
frequently changing work locations: workplaces Sortimo’s load securing concept from Sortimo®. Tool
outside the workshop are as varied as the work that storage from GEDORE - flexible, mobile, safe and light.

has to be done there.

In addition to the tried and tested toolbox, which can
withstand even the most adverse conditions on the

4340035

)
D

026



MOBILE WORK SOLUTIONS

* Versatile combinations
o Easy to transport
« Mobile storage systems

GEDORE MODULAR
ASSEMBLY KIT MIXX&CLICK®

« Tool assortments in the
Sortimo®Transportbox System

o Easy-Click connection system for simple
combination of several L-BOXXes

« (an be integrated into vehicles with
TUV-certified Sortimo®vehicle equipment

STORAGE SPACE MIRACLE -
CHESTS, CASES AND TOOLBOXES

e Large storage volume

« Fully extendable tool compartments

¢ High stability

* Tools always within reach

« Expandable with tool cards for case lids

DURABLE MATERIALS

« Toolboxes made of extremely robust sheet steel

* Made for continuous use - materials are subjected
to strict controls and stress tests

o The storage solutions of the MIXX&CLICK series
are made of particularly durable plastic

027



Mobile Tool Storage

1263 L ;
ool box > Great extendability of Code No. H W L S
3 compartments the tool compartments 6608250 12631 158 420 25 44
> Great stability even if
only one side is opened
> Dimensions:
H 158 x W 420
D225mm
r—74634—‘
—
T
20—+
1265 L ==
Tool box > Great extendability of Code Ne. H w L T
5 compartments the tool compartments 6609060 12651 210 420 225 584
> Great stability even if
only one side is opened
> Dimensions:
H210xW 420 x
% D225mm
S
T —
307 J;
LT
r-74204—‘
1335
Tool box > Great extendability of Code No. H w L oo
the tool compartments 6610580 13351 210 535 225 6,84

5 compartments,
long pattern

> Great stability even if
only one side is opened

> Dimensions:
H210xW535x
D225 mm
T r—i 5734—‘
307 l -
LT
r—75354-1
WK1072 L > With carrying handle and carrying strap > Additional 7 internal stretch tape holders
Toolbag > 17 open compartments, 1 of which with Velcro
empty fastener
Code No. w L H oo
3100421  WK1072L 515 335 360 24

144027
Tool box JUMBO
zinc-plated

028

> Made of specially galvanised sheet steel,
for tough everyday use

> Optimum corrosion protection, spray water protected

> Stopper to hold the lid open
> Lockable through padlock

Code No. H w L She
6628280  1440Z-70 320 698 387 17
6628360  14407-83 340 841 427 21
6629170  1440Z-91 440 918 537 30



Mobile Tool Storage

1440
Tool box JUMBO

> Sheet steel construction with strong handles
(except 1440-45, 1440-64)

> With robust fittings, handles and lid
locking in open position

> No. 1440-45 without small parts insert

Code No. H w L oo
6616510  1440-70 320 698 387 19
6616780  1440-83 340 841 427 23
6616860  1440-91 440 918 537 32
6616940  1440-100 320 998 387 25
¥VK 100? L > Impact-resistant blown polypropylene, > With Check-Tool inserts
e??‘ tmse OURING resistant to oil and acid and extremes of temerature > Delivery without tools
oY and weather
Code No. w L H Sioe
2881381  WK1000L 430 360 160 1,96
¥VK‘ 1091L > Made from eco-friendly tanned cowhide > Anti-Theft protection by 2 locks, delivery
e‘;? tcose > Quality workmanship with strong industrial seams includes 2 keys
Pty > reinforced edges with aluminium angle brackets,
metal parts durable riveted
Code No. W L H Sige
1953729  WK1091L 430 200 290 42
WK1040 L > Drive handle with user-friendly telescopic handle > Lockable with 2 tilting cylinder locks and one
GEDE)RE Roller tool case > Wide wheelbase with 2 inline rollers provide for combination lock
empty atilt resistant drag
> Robust aluminium frame with bumper protection,
shells made of impact-resistant ABS plastic
Code No. W L H Py
3065391  WK1040L 490 395 200 6,2
WK1041L > Robust aluminium frame with bumper protection, > Lockable with 2 ilting cylinder locks and one
Tool tcose large shells made of impact-resistant ABS plastic combination lock
Empty > when the lid is open it is protected against
unintentional closing by locking the safety lid
holder
Code No. w L H Sie
3065405 WK1041L 490 395 185 49

029



Mobile Tool Storage

e Tools, machines and material must be easily, safely,

quickly and conveniently transported to the place of use

i.e.in a preferably resources-saving manner.
e Lengthy loading times must be avoided at all cost -
guaranteed load securing a pre-condition here!
o GEDORE's Sortimo® transport box system relies
on a tried-and-tested mobility standard
o The perfect alliance for intelligent,
efficient process and project design planning

MOBILITY AT ITS BEST

2 powerful partners - 1 system

Sortimo

Intelligent Mobility

FOR YOUR SAFETY

o The GEDORE L-BOXX®es are fully compatible with
Sortimo® vehicle settings

o GEDORE L-BOXX® quality is constantly examined on the
basis of the strict Sortimo® directives. Sortimo® has its
quality endorsed through crash tests organised by TOV.

o Ifit comes to the worst, at least the tools stay where
they belong - securely in their GEDORE L-BOXX®

YOUR ADVANTAGE

o Intelligent order systems

o Flexible, modular and individual

o |deal for mobile deployments

o Diverse and highly efficient

o Quick accessing of tools - perfect organisation

o Transport box standard - e.g. compatible with
electrical tool manufacturers

o Guaranteed safety

030




Mobile Tool Storage

1100-01 ) )
MECHANIC tool > Especially suitable for
assortment thehandymanor
58 pieces DIY enthusiast

> (T(Check Tool) bicolor

foam tool modules
Made of impact and
shock resistant ABS
plastic

For integration in
vehicles with Sortimo®
vehicle equipment

v

v

GEDOREWV

1100L

1100 CT2-01

Code
2658194

2936828

Code
2690055

No.
1100-01

1100
(12-01

No.

EI-1100-01

Contents She
1/2" reversible ratchet No. 1993 U-20 9,5

1/2" extension no. 1990-10, 250 mm

1/2" universal joint No. 1995

1/2" socket wrench insert No. 19,

SW1011121314151617 18192122 24 mm

Adjustable open-end wrench No. 60 CP 8, 8".

Universal Pliers No. 142 10JC, 10",

2-component handle power side cutter No. 8316-160 JC, 160 mm
2C-Handle Multiple Pliers No. 8133-180 JC, 180 mm

2Chandle engineer’s hammer No. 600 H-500, 500 g

Bricklayer’s chisel No. 110-256, 250x16 mm

Control cabinet key UNIVERSAL No. 45 S, for control cabinets and locks
Miniature LED light No. TFK 649

Hinged base No. E-649 F for LED light No. TFK 649

Cable knife No. 0063-08, blade L. 80 mm

Offset screwdriver set No. H 42-10, hexagon
SW13152253456810mm

Offset screwdriver No. SCL 43 TX-80, T9T10T15T20 T25 T30 T40
VDE Screwdriver set No. VDE 2170-2160 PH-077 Slot 2.54 5.5,
cross recessPHO 12

Voltage Detector Slot No. 4615 3, 220-250V, 3mm

Wooden folding rule No. 4533-2, 2 m

Warding file set no. 8728, flat file, triangular, square,
half-round, round file

+ GEDORE L-BOXX® 136 No. 1100 L

1/2" reversible ratchet No. 1993 U-20 6,761
1/2" extension No. 1990-10, 250 mm

1/2" universal joint No. 1995

1/2" socket No. 19, AF 10111213 141516 1718 19 21 22 24 mm
Adjustable wrench, open end No. 60 CP 8, 8"

Universal pliers No. 142 10 J, 10"

Power side cutter No. 8316-160 JC, 160 mm 2C handle

Multiple pliers No. 8133-180 JC, 180 mm 2C handle
Engineers"hammer No. 600 H-500, 500 g

Bricklayer’s chisel No. 110-256, 250x16 mm

Multi fitting key UNIVERSAL No. 45 S,

for control cabinets and locking devices

Miniature LED lamp No. TFK 649

Swivel end No. E-649 F for LED lamp No. TFK 649

Cable knife No. 0063-08, blades L. 80 mm

Designation Sie®

Foam insert 2/2 L-BOXX 136, empty 0,2




Mobile Tool Storage

H MIXX &CLICK

The Sortimo transport box system is perfectly suited to the needs of mobile use.
The GEDORE modular system The basis for the MIXX&CLICK modular system is the tried and tested GEDORE L-BOXX® 136

with front handles and tool card in the lid, as well as the GEDORE i-BOXX® 72. These are
multi-compatible and therefore extremely flexible, allowing a high degree of customisation.
The MIXX&CLICK system is particularly impressive because of the countless combination
options offered by the pre-configured GEDORE tool assortments - modules from other
manufacturers, such as Bosch power tools, can also be used. In combination with other
components from the Sortimo® world (transport boxes and system components), you can
create a well-organised workshop "to go", that is tailored to your personal needs.

TOOL CARD

For individual upgrading or adaptation
of the L-BOXX®, depending on the area
of application

TOOL MODULES

For individual assembly of the L-BOXX®
with 1/2 and 2/2 modules

I-BOXX® RACK-ACTIVE
CLICKSYSTEM

Enables safe transport of your i-BOXX®
tool assortments and is compatible with
all L-BOXX®s

L-BOXX® ROLLER

Connect rollers and BOXX®s by putting
them on and clicking them together

GEDORE L-BOXX®136 ® Robust construction
POWERED BY SORTIMO® * Tool easy and convenient to transport to the place of use
o Made of impact and shock-resistant ABS plastic
o Standard lid handle for carrying the L-BOXX® horizontally
o Additional hand-friendly front handle for carrying the L-BOXX® vertically
o Splash-proof
o With GEDORE tool card for more order and storage space
o Easy Click System: practical plug-in connection for two or more L-BOXX®s,
for secure hold and easy transport
o Fasy integration into vehicles with T0V-tested Sortimo® vehicle equipment




Mobile Tool Storage

1100-02 " . Code No. Contents S
Tool case electrician in > Espedially suitable for
GEDORE L-BOXX® 136 professions in electrical 2658208  1100-02  Bricklayers chisel No. 110-256, 250x16 mm 7,674
36 pieces engineering Electrician’s chisel No. 112-2510, 4kt 250x10x7 mm
> (T(Check Tool) bicolor Engineer’s hammer No. 600 H-500, 500 g
foam tool modules Adjustable open-end wrench No. 60 CP 8, 8".

Universal Pliers No. 14210 JC, 10".

Wire stripper No. 8097, automatic

Multiple Pliers No.8133-180 JC, 180 mm 2C-Handle

VDE side cutter No. VDE 8314-160 H, 160 mm

VDE Flat nose pliers No. VDE 8132-200 H, 200 mm

VDE Flat Nose Pliers No. VDE 8132 AB-200 H, angled 200 mm

VDE Wire stripper No. VDE 8098-160 H, 160 mm

VDE cable cutter No. VDE 8094, 200 mm

Universal Cable Knife No. 4528, Blade-L. 50 mm

Electrical insulating tape no. 4629, tape L.10m

Spatula No. 0175-06, sheet B. 60 mm

Offset screwdriver No. H 42-10, hexagon SW1.31.522.53456 8 10mm
VDE Screwdriver set No. VDE 2170-2160 PH-077, slot 2.54 5.5 6.5 mm,
cross recessPHO 12

Voltage Detector Slot No. 4615 3, 220-250V, 3mm

Voltage Detector Slot No. VDE 4616.12-1000V, 3 mm

Switch cabinet key ELEKTRO No. 45 E

Wooden folding rule No. 4533-2,2m

+ GEDORE L-BOXX® 136 No. 1100 L

2936836 1100 Bricklayer’s chisel No. 110-256, 250x16 mm 3,895
(12-02  Electrician’s chisel No. 112-2510, 4kt 250x10x7 mm
Locksmith’s hammer No. 600 H-500, 500 g
Adjustable open-end wrench No. 60 CP 8, 8"
Universal pliers No. 142 10 JC, 10"
Stripping pliers No. 8097
1100 CT2-02 Automatic multi-purpose pliers No.8133-180 JC, 180 mm
VDE Side cutters No. VDE 8314-160 H, 160 mm
VDE Flat round nose pliers No. VDE 8132-200 H, 200 mm
VDE Flat round nose pliers No. VDE 8132 AB-200 H, angled 200 mm
VDE Wire strippers No. VDE 8098-160 H, 160 mm
VDE Cable cutter No. VDE 8094, 200 mm
Universal cable knife No. 4528, blade-L. 50 mm
electrical insulation tape No. 4629, tape-L.10 m
spatula No. 0175-06, sheet-B. 60 mm

Code No. Designation e

2690047  EI-1100-02  Foaminsert 2/2 L-BOXX 136, empty 0,2




Mobile Tool Storage

1100-03
INSTALLATION tool
assortment in
GEDORE [-BOXX® 136,
44 pieces

Code
2658216

> Especially suitable for
professions in sanitary,
heating and air
conditioning technology

> (T(CheckTool) bicolor
foam tool modules

> With 2 stacked Check-
Tool inserts

ERRETEr]

No.
1100-03

Sioo
10,306

Contents

Open-end wrench with ring ratchet No. 7R, SW 10 1317 19 24 mm
High-performance three-point pipe wrench ECK-SCHWEDE-snap No. 100 1.1/2,
1.1/2"

Universal Pliers No. 142 10TL, 10",

Fitting wrench no. 322000, 260 mm

Pipe cutter No. 232001, @ 4-32 mm

Pipe cutter No. 225011, stainless steel @ 6-35 mm

Miniature pipe cutter MINI-QUICK No. 231000, @ 4-16 mm

Cock block wrench set No. 381000 with extension 1/2" No. 1990-5
Combination Step Wrench No. 380100, with 5 graduations 3/8"-1

Engineer’s hammer ROTBAND-PLUS No. 600 H-500 with hickory handle, 500 g
Bricklayer’s chisel No. 110-256, 250x16 mm

Offset screwdriver No. SCL 43 TX-80, T9T10T15T20 T25 T30 T40

Voltage Detector Slot No. VDE 4615.12-1000V, 3 mm

Professional key UNIVERSAL No. 45 P, for climate and locks

Offset screwdriver No. H 42-10, hexagon SW1.31.522.53456 8 10mm
Stand tap wrench No. 316500, 260 mm

Wooden folding rule No. 4533-2,2m

VDE Screwdriver set No. VDE 2170-2160 PH-077, slot 2.5 4 5.5 6.5 mm, cross
recessPHO 12

2940590

1100
(12-03-
1008

7R1013171924
1001.1/2
14210TL

322000

232001

225011

231000

381000

380100

4,39

2940604

Code

1100 (T2-03-600 D 2689979

1100
(12-03-
600D

No.

EI-1100-03-100B

600 H-500
110-256
SCL43TX-80
VDE 4616
45p
H42-10
316500

2,622

Designation Sige
Foam insert 2/2 L-BOXX 136, bottom, empty 0,1

2690039

EI-1100-03-600 D

Foam insert 2/2 L-BOXX 136, lid, empty 0,2

1100-BASIC
STARTER Tool kit
in -BOXX®136, 23
pieces

Code
2835983

> Basic equipment for all
trades

No.

1100-BASIC

Contents

1-BOXX® 136 No. 1100 L 6,1
+ Assortment No. S 1100 W-001
+ Assortment No. 1100 CT2-BASIC

2835967

Code
2835975

1100L

1100 CT2-BASIC

034

1100 CT2-

BASIC

No.

EI-1100 CT2-

BASIC

Open-end wrench with ring ratchet No. 7R, 2,4
SW1012131415161718 19 mm

Universal cable knife No. 4528, blade-L. 50 mm

wood link scale No. 4533-2, 2 m

Hobby saw No.406, blade-L. 145 mm

flat chisel No. 95-200, 200x23x13 mm

engineer’s hammer No. 600 H-500, 500 g

Japait
wkge

Designation

Foam insert 2/2 L-BOXX 136, empty 0,2



Mobile Tool Storage

1100-1.04

; Code No. Contents Sige
Universal puller set > With 2-and 3-arm ’
in L-BOXX® 136 (ross-beam 2838362  1100-1.04  Universal puller HIGH POWER No. 1.04/HP1A-B, 2-arm, 130x100 mm 6,3
13 pieces > With rigid and slim legs Cross-beam No. 107/1A03, 3-arm 180 mm
and extensions Pulling leg No. 106/A-100-B, all-steel, leg brake
> Extraslim Pulling hooks 3x extension No. 106/A-100-VB with leg brake 100 mm
for narrow installation 3x pulling leg No. 106/A-100-S, slim 100 mm
. 3x pulling leg No. 106/5101-S, without clamping part
spaces are included for
sZIf—instaIIation Spindle No. 1.1406200, 17 M14x1,5 200 mm
. + GEDORE L-BOXX® 136 No. 1100 L
> 12 different pullers can
be combined 2836068 1100 (T2- Universal puller HIGH POWER No. 1.04/HP1A-B, 2-arm, 130x100 mm 41
1.04 Cross-beam No. 107/1A03, 3-arm 180 mm
Pulling leg No. 106/A-100-B, all-steel, leg brake
3x extension No. 106/A-100-VB with leg brake 100 mm
3x pulling leg No. 106/A-100-S, slim 100 mm
3x pulling leg No. 106/5101-S, without clamping part
Spindle No. 1.1406200, 17 M14x1,5 200 mm
Code No. Designation Sioe
2836076  EI-1100 Foam insert 2/2 L-BOXX 136, empty 0,2
(12-1.04
1100L
1100 CT2-1.04
1100-1.04/12A . 55
Puller assortment > Max. capacity 3and 5t Code o Contents ’
inside/outside > For clamping widths up 2927241 1100- Universal puller No. 1x 1.04/1A, 2-arm 130x100 mm 9,6
in L-BOXX® 136 to @200 mm external, 1.04/12A Universal puller No. 1.04/2A 2-arm 200x150 mm
0 70-260 mm internal, Extension with hook brake no. 106/A-100-VB, 100 mm
and clamping depths up Extension with hook brake No. 106/B-150-VB, 150 mm
10300 mm Spindle No. 1.1406200 SW 17 M14x1,5 200 mm
RO el el spindle No. 1.2106350KS, SW 22, G 1/2", 350 mm, with ball point
TS 6 N T + GEDORE L-BOXX® 136 No. 11001
self-supporting T-profile
for better power 2927268 1100 (T2- Universal puller No. 1x 1.04/1A, 2-arm 130x100 mm 74
transmission 1.04/12A Universal puller No. 1.04/2A 2-arm 200x150 mm
> 2 steel extensions each Extension with hook brake no. 106/A-100-VB, 100 mm
100 and 150 mm with Extension with hook brake No. 106/B-150-VB, 150 mm
. Spindle No. 1.1406200 SW 17 M14x1,5 200 mm
Il it Lo spindle No. 1.2106350KS, SW 22, G 1/2", 350 mm, with ball point
adjustment of the legs
Code No. Designation &5%
2927276  EI-1100CT2-  Foaminsert 2/2 L-BOXX 136, empty 0,2
1.04/12A

1100L

1100 (T2-1.04/12A

WWW.GEDORE.COM

035



Mobile Tool Storage

1100-1.41/2A

PR Cod No. Content 5%
Separator and > For clamping widths o g LG g
puller set from @22 to 115 mm 2927284  1100-1.41/2A  Separator puller No. 1x 1.38/2,70-215 mm 11,5
in L-BOXX® 136 and clamping depths Separator No. 1.40/2, 22-115 mm
up to 295 mm Set of threaded inserts No. 1.81/20, for 1 and 2-hole applications,
> Indl. thread adaptor M14x1.5
forinternal threads 2x extension No. 1.38/CV M14x1.5
M8-M18 + GEDORE L-BOXX® 136 No. 1100 L
> Forloosening and remo- 2927292 1100 (T2- 1x1.38/2 7.9
ving tightly-seated parts 1.41/2A 1x1.40/2
e.g. taper roller bearings 1x1.81/20
and inner bearing races Tx1.38/CV
Code No. Designation Sio®
2927306  EI-1100(T2-  Foaminsert 2/2 L-BOXX 136, empty 0,2
1.41/2A
1100 (T2-1.41/2A
1100-1.30
Interndl > Forinner diameter Code No. Contents S
extractor set 12-35mm 2836041  1100-1.30 Internal extractor No. 1.30/2.12-15 mm 72
in L-BOXX®136, > For extremely-tight- Internal extractor No. 1.30/3.15-19 mm
8-pieces ly-packed ball bearings, Internal extractor No. 1.30/4.19-25 mm
bearing races, bushings, Internal extractor No. 1.30/4A, 25-30 mm
and shaft seals Internal extractor No. 1.30/45, 30-35 mm
. . Counter support No. 1.36/1 for 1.30/0 - 1.30/5
Simmering®
> With Slideghammer - Sliding hammer No. 1.35/2, 500 mm, 1.7 kg
-+ GEDORE L-BOXX® 136 No. 1100 L
counter support
2836025 1100 (T2- Internal extractor No. 1.30/2,12-15 mm 5
1.30 Internal extractor No. 1.30/3,15-19 mm
Internal extractor No. 1.30/4,19-25 mm
Internal extractorNo. 1.30/4A, 25-30 mm
Internal extractor No. 1.30/45, 30-35 mm
Counter support No. 1.36/1 fiir 1.30/0 - 1.30/5
Sliding hammer No. 1.35/2, 500 mm, 1,7 kg
Code No. Designation Si5e
2836033  EI-1100 Foam insert 2/2 L-BOXX 136, empty 0,2
(12-1.30

1100L

1100 (T2-1.30

036



Mobile Tool Storage

1100 CT1-7

Code No. Contents Sie
Combination
spanner set 2835908  1100CT1-7  Combination spanner No. 7, Size 8101213141516 1718 1922 24 mm 15
inl/e L-BOXX®136
module, 12 pieces
Code No. Designation Sio®
2835924  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,1
-7
1100CT1-19 @ @'\75 Code No. Contents S
Socket set 1/2"
in1l/2 -BOXX® 136 2836009  1100(CT1-19  1/2"socket No. 19,AF8910111213 14151617 181921222427 3032 mm 28

1/2" reversible ratchet No. 1993 U-20
1/2"universal extension No. 1990 KR-5 -10, 125 250 mm

module, 21 pieces

0000 000

00000 o ——

55000 Code No. Designation Sk
el 2836017  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,085

) m—— (T1-19

1100 CT1-20

Socket set 1/4" ]/4” o @ Code No. Contents o
® P

in 1/2 L-BOXX® 136 @ 6 2835886  1100(T1-20  1/4"socketNo. 20,AF455.5678910111213 mm 0,856
module, 44 pieces 1/4" reversible ratchet 2093 U-20
1/4" extension No. 2090-4, 97 mm
1/4" bit holder No. 699, hex
Bit adapter No. 620, 1/4" hex x 1/4" square
> universal with sockets 1/4" multi-handle No. 676
and bits 1/4" screwdriver bit slotted No.680, 4 4.5 5.56.58 mm
1/4" screwdriver bit hex No. 685,3456 8 10 mm
1/4" screwdriver bit cross-slotted No.690, PH 12 3
1/4" screwdriver bit cross-slotted No. 690, PZ 123
1/4" screwdriver bit TX No. 687, T6 T7 T8 T9T10 T15T20T25T27 T30 T40

00060000000

Code No. Designation oy
2835894  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,16
(T1-20
1100 CT1-350 G= Code No. Contents 5o
Chisel set
in1/2 L-BOXX®136 2835932 1100(T1-350 Percussion tool set No. 106, 6 pcs. 23
module, S pieces electric chisel No. 112-2508, 250x8x6 mm
> Club hammer bricklayer's chisel No. 110-256, 250x16 mm
ROTBAND-PLUS for hammer No. 620 E-1000, 1000 g
powerful blows
Code No. Designation Sae
2835959  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,1
(T1-350

037



Mobile Tool Storage

1101-7-7R

———— Code No. Contents 5%
ombination
spanner set 2836114  11017-7R  7R10131719 29
ini- ® i 768111214151618212224
NIFBOXX® /2, I5pieces 5 poquently used spanner 011
o - widths as practical
T — ratchet
> InGEDORE i-BOXX® 72
No. 1101 L
> Dimensions:
W 367 xD 316 x
H72 mm
élOg.-P at01/4+" ‘ m P2y €5 @ Code No. Contents S50
ocket se in
“BOXX® 72 D@ ® & w6165 1101020 14" socketNo.20,AF445555678mm 2
58 pieces 1/4" reversible ratchet 2093 U-20
@ @ @ @ 1/4" extension No. 2090-2 -4, 55 97 mm
1/4" universal joint No. 2095
Bit adaptor No. 620, 1/4" hex x 1/4" square
) - > universal with sockets 1/4" multi-handle No. 676
ﬁ] and bits Adathr No. 673 6.3, 1/4" hex x 1/4" square
> In GEDORE i'BOXX® 72 1/4" bit holder No. 699, hex
Pligis 20808000 No. 1101 L 1/4" screwdriver bit slotted N0.680, 4 5.5 6.5 8 mm
o 1/4" screwdriver bit hex No. 685,3456 810 mm
> : !
ev'";;;‘s'%"; i 1/4" screwdriver bit XN No. 685 X, M5 M6 M8
X X 1/4" screwdriver bit cross-slotted No.690, PH 123
H72mm 1/4" screwdriver bit cross-slotted No. 690, PZ 123
1/4" screwdriver bit TX No. 687, T6 T7 T8 T9T10 T15T20 725727 T30 T40
1/4" screwdriver bit TX with hole No. 688 T10 T15T20T25T27 T30 T40
Inset box No. E-1101 BT, with two partitions
élokl_%g oy Code No. Contents S
ocket se in
i-BOXX® 72, 21 pieces 2836084  1101-19 1/2" socket No. 19,AF89 10111213 14151617 1819 21 4,05
2224273032mm
o ®
> In GEDORE i-BOXX® 72 1/2" reversible ratchet No. 1993 U-20
No. 17071 1/2"universal extension No. 1990 KR-5-10, 125 250 mm
> Dimensions:
- - W 367 xD 316 x
00000000 H72mm
c000000000
_ - a
]F-’:IL‘OI 14da 2150d _ 6 @ w ™™ (e No. Contents S
iers and screwdriver
qssortment 2836149  1101-142- 3Cscrewdriver slot No. 2150, 4 5.5 6.5 mm 1,9
in i-BOXX® 72, S pieces . 2150 3C-Screwdriver Cross-recess No. 2160 PH 12
> In GEDORE i-BOXX® 72 Voltage Detector Slot No. 4615 3, 220-250V, 3 mm
No.1101L Multiple Pliers No.8133-180 JC, 180 mm 2C handle
> Dimensions: Power side cutters No. 8316-160 JC, 160 mm 2C handle
W367xD316x Universal Pliers no. 142 10TL, 10"
H72 mm

038



Mobile Tool Storage

é{;tll)tjﬁ?élK > Ball bearing extractor Code No. for ball bearingNo.  Contents Sie
extractor set set for over 30 ball 2963485  1101-  forball bearings No.  129/104 Head 2,61
ini-BOXX® 72 bearings 1.29/1K 6000 60016002 6003  129.106 Spindle SW 14, M10x1,5, 160 mm
For removing ball 6005 6006 6007 6008 129/304 Head
- bearings that are both 6009601060116012 129.306 Spindle SW 17, M14x2,0, 210 mm
onashaftandina 6200 620162026203  129/10 Pulling leg 1 pc. 140 mm (4x)
housing 6204 6205 6206 6207  129/15 Pulling leg 1 pc. 140 mm (4x)
Non-destructive removal 630063016302 6303 129/25 Pulling leg 1 pc. 170 mm (4x)
6304 6305 6306 6307 129/30 Pulling leg 1 pc. 178mm with 3 Spacers (4x)
of deep-groove ball 6403 6404 129735 Pulling leg 1 pc. 178mm with 5 Spacers (4x)
bearings without 1.29/0 burnished handle
dismantling the shaft; EI-1101 CT-1.29/3K Foam insert i-BOXX 72, empty
no drilling of the 1101 L GEDORE i-BOXX 72 empty
bearing cage necessary 2964414 1101 forballbearingsNo.  129/104 head 175
(chip free) (- 6000600160026003 129.106 Spindle SW 14, M10x1.5, 160 mm
1.29/1K 6005 6006 6007 6008  129/304 head
6009601060116012 129.306 Spindle SW 17, M14x2.0, 210 mm
6200 620162026203  129/10 pulling leg 1 pc. 140 mm (4x)
62046205 6206 6207  129/15 pulling leg 1 pc. 140 mm (4x)
6300 630163026303  129/25 pulling leg 1 pc. 170 mm (4x)
6304 63056306 6307  129/30 pulling leg 1 pc. 1778mm with 3 spacers (4x)
6403 6404 129/35 pulling leg 1 pc. 178mm with 5 spacers (4x)
1.29/0 handle burnished
EI-1101 CT-1.29/3K foam insert i-BOXX 72, empty
Code No. Designation Sie
2964449  EI-1101 Foam insert i-BOXX 72, empty 0,11
(1-1.29/3K
éﬁ?i:ﬁ%BK > Ball bearing extractor Code No. for ball bearing No. Contents Sae
extractor set set for over 40 ball 2964392 1101-  6000600160026003  129/104 head 578
in iFBOXX® 72 bearings 1.29/3K 6004 60056006 6007  129.106 Spindle SW 14, M10x1.5, 160 mm
For removing ball 60086009 60106011  129/304 head
. bearings that are both 6012620062016202 129.306 Spindle SW 17, M14x2.0, 210 mm
onashaftandina 6203 6204 6205 6206  129/404 head
housing 6207 62086209 6210  129.406 Spindle SW 19, M18x2.5, 230 mm
M sinET R T 621162126213 6300  129/504 head
630163026303 6304  129.506 Spindle SW 22, M20x2.5, 235 mm
of deep-groove ball 6305 630663076308 129/10 pulling leg 1 pc. 140 mm (4x)
bearings without 6309631063116403  129/15 pulling leg 1pc. 140 mm (4x)
dismantling the shaft; 6404 6405 6406 6407  129/25 pulling leg T pc. 170 mm (4x)
no drilling of the 129/30 pulling leg 1 pc. 178mm with 3 spacers (4x)
bearing cage necessary 129/35 pulling leg 1 pc. 178mm with 5 spacers (4x)
(chip free) 129/40 pulling leg 1 pc. 226mm with 5 spacers (4x)
129/45 pulling leg 1 pc. 226mm with 11 spacers (4x)
1.29/0 handle burnished
EI-1101 (T-1.29/3K foam insert i-BOXX 72, empty
1101 L GEDORE i-BOXX 72 empty
2964430  1101(CT- 60006001 60026003  129/104 head 6,195
1.29/3K 6004 6005 6006 6007  129.106 Spindle SW 14, M10x1.5, 160 mm
6008 600960106011 129/304 head
6012 620062016202  129.306 Spindle SW 17, M14x2.0, 210 mm
6203 6204 6205 6206  129/404 head
6207 62086209 6210  129.406 Spindle SW 19, M18x2.5, 230 mm
621162126213 6300  129/504 head
630163026303 6304  129.506 Spindle SW 22, M20x2.5, 235 mm
630563066307 6308 129/10 pulling leg 1 pc. 140 mm (4x)
6309631063116403  129/15 pulling leg 1 pc. 140 mm (4x)
6404 6405 6406 6407 129/25 pulling leg 1 pc. 170 mm (4x)
129/30 pulling leg 1 pc. 178mm with 3 spacers (4x)
129/35 pulling leg 1 pc. 178mm with 5 spacers (4x)
129/40 pulling leg 1 pc. 226mm with 5 spacers (4x)
129/45 pulling leg 1 pc. 226mm with 11 spacers (4x)
1.29/0 handle burnished
EI-1101 (T-1.29/3K foam insert i-BOXX 72, empty
Code No. Designation Sige
2964449  EI-1101 Foam insert i-BOXX 72, empty 0,11
(1-1.29/3K

039



Mobile Tool Storage

1100 W-001 - & L
Tool board with pliers/ 9 @ S Code . Contents i
screwdriver assortment 2836181 1100 Multiple Pliers No. 8133-180 JC, 180 mm 2C-Handle 1,795
9 pieces > To retrofit existin W-001  Power side cutters No. 8316-180 JC, 180 mm 2-component handle
Y Universal Pliers No. 142 10TL, 10",
L-BOXX®es 136 3C-Screwdriver slot No. 2150,4 5.5 6.5 mm

3C-Screwdriver Cross-recess No. 2160 PH 12
Voltage Detector Slot No. 4615, 3 mm
+ tool card No. ET-1100 W

2836211  S1100  Multiple Pliers No. 8133-180 JC, 180 mm 2C-Handle 11
W-001 Power side cutters No. 8316-180 JC, 180 mm 2-component handle
Universal Pliers No. 142 10TL, 10",
3C-Screwdriver slot No. 2150,4 5.5 6.5 mm
3C-Screwdriver Cross-recess No. 2160 PH 12
Voltage Detector Slot No. 4615, 3 mm

#10‘?} W'(?QtahVDE 6 @ @ = Code No. Contents Sige
ool board wi
VDE pliers/screwdriver ~ Wmwal ANooov 2836203 1100 VDEside cutter No. VDE 8314-160 H, 160 mm 1,52
assortment W-002  VDE Flat nose pliers No. VDE 8132-160 H, 160 mm
9 pieces VDE VDE Screwdriver slot No. VDE 2170, 2.53.55.5mm
> Toretrofit existing VDE Screwdriver Cross-recess No. VDE 2160 PH 12
L-BOXX®es 136 VDE Screwdriver cross recess No. VDE 2160 PZ 12
+ Tool card No. ET-1100
QHW M 2836238 51100  VDEside cutter No. VDE 8314-160 H, 160 mm 08
‘ ARRARA R W-002  VDE Flat nose pliers No. VDE 8132-160 H, 160 mm
Y Vi I VDE VDE Screwdriver slot No. VDE 2170, 2.53.5 5.5 mm

VDE Screwdriver Cross-recess No. VDE 2160 PH 12
VDE Screwdriver cross recess No. VDE 2160 PZ 12

ET-1100 W > retrofittable for any L-BOXX® > Mounting material for L-BOXX® 136 is included

Lid tool board > Rubber straps and pockets for inserting tools
empty

Code No. w L H Sae
2678322  ET-1100W 375 20 310 0,4
1100L o . > Made of impact and shock resistant ABS plastic > For integration in vehicles with Sortimo® vehicle
CEDORE L-BOXX® 136 with easy carry handle > Top and front handle for variable transport equipment
of the L-BOXX®

> With tool board for order and more storage space

Code No. W L H She
2823691 1100L 442 357 151 2,2

040



Mobile Tool Storage

1100 R
GEDORE L-BOXX® Roller

> Practical, mobile trolley for all L-BOXX® types
> 4steerable wheels , 2 of which have brakes

Code No. w L
2823756  1100R 646 492

> Loadable up to 100 kg

H Sige
184 44

1101L
GEDORE I-BOXX® 72

> Small parts case with transparent lid
for quick viewing
> Optional inset boxes i3 for an individual sorting

Code No. W L
2823705 1101L 367 316

> Suitable for i-BOXX® Rack aktiv no. 1101 K

H Sige
72 09

E-1101 BT
GEDORE Insetbox i3

> For GEDORE i-BOXX® 72 no. 1101 L
> As storage for small parts

Code No. W L
2840006  E-1101BT 260 78

> Further subdivision possible with 2 partitions

H Sige
63 0,1

1102 L
GEDORE L-BOXX® Mini

> Compatible with the GEDORE BOXX®en system
> Especially suitable for small tools

Code No. w L
2950529  1102L 260 155

> Also usable as small parts box, incl. divider set

H Sioe
63 0,36

WIWW.GEDORE.COM

041



